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- 2000 i 2 ¥ ¥ Befe 1,110 ~(F = 22 (0,555 =)
- 2,001 i~10, 000 ri 2,000 nide 3 # - AZiBI%A F 100 mife 38 =~
= 10, 001 1i~50, 000 i 10, 000 mi#+ = # > 4@ ># 100 mife 34 ~ -
b 50, 001 ni~100, 000 nf 50, 000 mife3 = # - 4B % 100 miE 30 = o
i 100, 001 nf~150, 000 m 100, 000 mi## = # - 42:&3%>% 100 mife 26 ~ -

> 150, 001 mi~200, 000 m 150, 000 mi#& = T 4% » A& >+ 100 mir 21.5 =~ -
= 200, 001 m'~250, 000 m 200, 000 m4& = = 3% > AZEN>H 100 miE 17.5 =~ -
2 250, 001 m'~300, 000 m 250,000 m#e = A% » AZE > * 100 mifE 13.5 ~ -
1 300, 001 mirs b 300,000 m#e# ~ 2% » A2 > F 100 mifE 9.5 ~ o
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1 Wg=Q 1Up Yo § =WagxUpxA

2 Q<Wg=2Q 1.25Up e = [Q+ (Wg—Q) x1.25] xUpxA

3 2Q< Wq=4Q 155Up | fe# = [Q+1.25Q+ (Wg—2Q) x1.55] xUpxA

4 4Q <Wq=8Q 193Up | fc# = [Q+125Q+2x1.55Q+ (Wq—4Q) x1.93] xUpxA

5 8Q< Wq=16Q 241Up | fc} = [Q+1.25Q+2x155Q+4x1.93Q+ (Wq—8Q) x 2.41] xUpxA

6 16Q< Wq 3Up fe ¥ = [Q+1.25Q+2x1.55Q +4x1.93Q +8x2.41Q (Wq—8Q) x3] xUpxA

Wo=F 7 ¥ =5 f# Ak #%E (CMD/2 ) ; Up=-k B A+ B § (=) == 2 ¢)

Q=1 £ %5 = A k£ % B (CMD/2F) : A= 2 & f#(2F)




